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Port Blair, dated the &b October, 2023.

To
The Executive Officer
SOVTECH
DBRAIT Campus
Pahargaon, Port Blair.

Sub: -Request to upload clarification to claims and objections received
against the Answer Keys for the Computer Based Test conducted
for recruitment to the vacant posts of Group ‘B’ (NG) post of
Nursing Officer - reg.

Sir
I am directed to inform that in response to claims and objections

received from candidates with reference to Answer Keys published in the

e-recruitment and State portal from 07.10.2023 to 09.10.2023 for the

Computer Based Test conducted for recruitment to the vacant posts of

Nursing Officer in respect of A & N Health Department held from 11.07.2023

to 15.07.2023, the decision taken against each claim and objection is

tabulated and enclosed herewith.

It is requested that the enclosed statement may kindly be published in
the e-recruitment portal https://erecruitment.andaman.gov.in and A & N
State portal www.andaman.gov.in for information of the candidates.

Yours faithfully,

V)
;,}‘iowmcer (Rectt)

Copy to:

1. The Special Secretary (IT), A & N Administration for information.
2. The Controller of Examination, DBRAIT for information.

/

Nodal Officer (Rectt)



Decision taken against the claims & objections received from candidates in response to

Answer Key published in the e-recruitment and State portal from 07.10.2023 to 09.10.2023

for the Computer Based Test conducted for recruitment to the posts of Nursing Officer:

Name of post: Nursing Officer

urinary catheter, discard
the wuro bag, gloves,
syringe in the respective
BMW bin. Nurse identify
the color of the bin is
(a)yellow, red

(b)yellow, black
(c)yellow

(d)blue bin

Answer: “Yellow”

the urinary catheter,

discard Urobag,
Gloves syringe in the
respective BMW

colors bin. Nurse has
to identify the color of
bin. The answer in the
answer key is yellow
but according to
BMW  management
answer it should be
red color bin.”

Question and Answer Claims/Objections Post Review Remarks

Key correct Answer
Set DI.I3 Q.50 “The question | Alternative “C” is | Hence the candidates
Question 50. was A nurse remove the correct | who have selected
A Nurse removes the Answer Option “C” will get

full marks

Set DHS
Question 21.

A women delivered this
morning, because this is
her first child, which of
the following goals is
most appropriate-
(A)Early discharge for
mother and baby
(B)Rapid adoption to role
of parents

(C)Effective education of
both parents

Section B
Q 21 repeated with Q 94

Both  Questions
will be Deleted

Both Questions will
be Deleted

Most frequent side effect

associated with the use of

TUCD is-

(A) Ectopic pregnancy

(B) Expulsion of IUCD

(C) Rupture of uterus

(D) Excessive menstrual
flow

Answer:

menstrual flow

Excessive

(D)Minimal need for

expression of negative

feelings

Answer: Effective

education of both

parents i
Set DHS Q 22 repeated with | Both Questions | Both Questions will
Question 22 question Q 89 will be Deleted be Deleted




Set DH5

Question 23

If the first day of
woman’s last menstrual
period was july 22, the
estimate date of child
birth would be-

(A) 42095

(B) 47209

(C) 38473

(D) 41760

Answer: 47209

Q 23 All options are
incorrect

None of the
alternative is
correct

The Question will be
deleted/not considered
for assessment and
hence no marks will be
awarded

Set DHS

Question 34.

The test that is most
specific for myocardial
damage is-

(A) CKMB

(B) Myoglobin

(C) Troponini-I

(D) CK

Answer: CK MB

Q 34 (c) is correct

Alternative “C”
is the correct
answer

Hence the candidates
who have selected
Option “C” will get
full marks

Set DHS

Question 92.

Obstetrical emergencies
include all, except?

(A) Ectopic pregnancy
(B) Placenta anterior

(C) Placenta previa

(D) Eclampsia

Answer: Eclampsia

Q 92 (¢) is correct

Alternative “D”
is the correct
answer

Hence the candidates
who have selected
Option “D” will get
full marks

Set DHS

Question 93.

A woman had a midline
episiotomy performed at
delivery. The primary
purpose of the
episiotomy is to?

(A) Allow forceps to be
applied

(B) Enlarge the vaginal
opening

©) Eliminate the
possibility of lacerations
(D) Eliminate the need
for caesarean birth
Answer: Eliminate the

Q 93 (b) is correct

Alternative “D”
is the correct
answer

Hence the candidates
who have selected
Option “D” will get
full marks

need for caesarean
birth
Set DH7 the question no. 59 in Alternative “C” Hence the candidates

Question 59.

1% sodium hypochlorite
is used for disinfection
of which of the
following element?

page no. 294

The answer you given
it is option (c)

But the correct answer

is the correct
answer

who have selected
Option “C” will get
full marks

e




(A) Surface cleaning
(B) Toilet cleaning

(C) Blood-stained linen
(D) Endoscopes
Answer: Blood-stained

is (a) surface
cleaning.

linen

Set DH7 the question no. 90 in | Alternative “B” | Hence the candidates
Question90. page no. 315 is the correct who have selected
Nurse is about to | The answer you given | answer Option “B” will get
catheterize the bladder of | it is option (d) full marks

a pregnant lady. She | Byt the correct answer

should be aware that all
the following facts about
the female urethra are
true except?

(A) Itisabout 1.5
inches in length

(B) It's posterior to the
vaginal orifice

(C) It pierces through
the urogenital diaphragm
(D) It is straight and
offers minor resistance
for catheterization
Answer: It is straight

is (b) it's posterior to
the vaginal orifice

and offers minor

resistance for

catheterization

Set DH11 Answer  given is | Alternative “A” | Hence the candidates
Question 1. odisha as per the | is the correct who have selected
Sarhul festival is | answer key,however | answer Option “A” will get
mainly associated with | the said  festival full marks

the tribal community of | belongs to the state of

which of the following | jharkhand.

state? Hence the answer is

(A) Jharkhand Jharkhand instead of

(B) Odisha odisha. Requested to

(C) Madhya Pradesh make necessary

(D) Rajasthan corrections and allot

Answer: “Odisha”

the mark.

Set DH11

Question 64.

A social process takes
place when there is:

(A) Integration

(B) Competition

(C) Assimilation

(D) Cooperation
Answer:
“Competition”

And as per the key
answer is competition.
However social
process consisting of
all the above four.
Hence the question is
not proper. requested
to provide the mark of
above said questions.

Alternative “C”
is the correct
answer

Hence the candidates
who have selected
Option “C” will get
full marks
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